
Chapter 2 outline:

▶ Mathematical sequences and Python lists (today)

▶ Recurrence relations and recursive functions (Wednesday)

▶ Functions on lists (Friday)

▶ More about functions on lists; sorting (next week Monday)

▶ Review for test (next week Wednesday)

▶ Test on Chapters 1 & 2 (next week Fri, Feb 7)

Today:

▶ Follow-up on previous assignment

▶ Finish powersets

▶ Definition of sequence

▶ Basics of Python lists

▶ Operations on Python lists



Note that

▶ a ∈ A iff {a} ∈ P(A)

▶ A ⊆ B iff A ∈ P(B)

▶ A ⊆ B iff P(A) ⊆ P(B)

▶ P(∅) = {∅} ≠ ∅



Observe

P({1, 2, 3}) = { ∅
{1}, {2}, {3} = { {1}, {1, 2}, {1, 3}, {1, 2, 3}
{1, 2}, {1, 3}, {2, 3} ∅, {2}, {3}, {2, 3} }
{1, 2, 3} }

= P({2, 3}) ∪ [1 added to each set
of P({2, 3}) ] = P({2, 3})∪

{ {1} ∪ X ∣ X ∈ P({2, 3}) }

If a ∈ A, then P(A) = P(A − {a}) ∪ { {a} ∪ X ∣ X ∈ P(A − {a}) }

What is ∣P(X )∣ in terms of ∣X ∣?
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[5 + i] = [5, 6, 7, 8, 9, . . .]

[(−1)i] = [1,−1, 1,−1, 1, . . .]
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[i2] = [0, 1, 4, 9, 16, . . .]
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For next time:
Pg 69–70: 2.(3, 4, 5, 7, 8, 10)

Read 2.2

Take quiz


